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FIRST Mip TERM TEST 2022
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I Choose the cerrect answer' . . 5X1 =5
20 4 (8) F B ittt e £
-~ a)20 ~b) 29 . i c)11 o .d)38
2. (-5) - (-18) = iuvuuresinseesserenren B | A
WoayRad s o b)-13 A c)13 - d)-23
3. Which property is lllustrated by the equation- R
._'(5x2)+(5x5)-5x(2+5) .
-~ a) commutative = | - b), closure
.. C) dlstrlbutlve PRI - d) associative ,
4, The area of a parall.elogram whose base-10,.and helght 7m lS
_"--'a)705qm R A -~ b)35sq.m
- ©7sgm . - ~ d)10sq.m
| 5 " The angle between the dragonals of a: rhombus is - |
. a) 1200 . 'b). 180° U 900 d) 1000
Flllmtheblanks . | A ) - 5X1=5
The additive inverse of -37 xyz is ..... T
. The numencal co - efficient of the term XY IS crrrrerrereene s
7 The set of mtegers is not closed under ...... i g B
i X 75.5,0,
PRI Ro T, e 75-’.=‘545_ O TR |
: Saytrueorfalse.‘ C R il b ORI

" 15 - (-18) is'the same as 15 . + 18

e 100)x0x20 i

088

-1 2pq and 7pq are ||ke terms | ek
The expressuon 8x + 3y and 7x + 2y can not be added
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Match the following. WA § A | . . 5X1=5
Area of the Trapezium- -~ - m-5 : . :
Binomial = | - .0
Area of rhombus oo x h (a + b) sq.units '»

5 is reduced fromm - - | _' X d X d sq umts
999 x-0 et B 2x + 3y e
Answerany 10 questions. - e " A 1'0' ‘x'(z,: 20
Subtract : 7xyz from 17 Xyz. : -
Add the express:ons s . (8x +:3) + (1 -7x)

If x= 2 and y -3 and then fmd the value of the followmg expresswn

4yx

" Find the area of a trapezmm whose parallel srde area 24cm and‘ '

20cm and the dlstance between them is 15cm.

Flnd the area of - a rhombus when both dlagonals measunng 8cm
Find the area of a parallelogram whose base is 12m and helght
is 8m - :
Divide (~72) by8 LT e

Find the product of (~9) X (- 8) xz( -7) X (- 6)

Find the value of( 35) x (- 11).

Find the value- usmg number line (- 3) (s 4)

Are (11 +7)+ 10 and 11 + (7 + 10)

The product of two mtegers is - -135. If one number -15, Find the ]
other mteger - ‘

“'Answer the followmg questions. Sr i e BT 2NEE 10

Draw a line segment of glven Iength and construct a perpendlcular

: brsector to each line segment using scale and compass. 8cm.
Construct the angle using protractor and draw a blsector usmg ruler

5 and compass 100°
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